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Write here:

Some people believe that tourists from overseas should be charged a 
higher fee than local residents to visit historical monuments and cultural heritages.  Personally, I completely disagree with this view.

For a variety of reasons, the implementation of additional  charges 
to 
foreign tourists 
is unacceptable.  The charges should be exactly the same.  To begin, international visitors have to spend their money on food,  souvenirs,
 travelling and services,  which benefit 
the economy of the host country, so they should not 
need to pay an extra fee for visiting local attractions.
  Secondly, it is my personal belief 
that if the foreign tourists can pay the same fee as local visitors, people from that country can pay the same price when going to the other country.

Moreover, ticket prices should be equal both for the local residents and overseas travelers because both of them have a right to visit cultural and historical places equally.  If the host country treats the foreign tourists fairly, it will make a strong impression on them, which will lead to a  larger 
number of international visitors coming to the country.  Moreover, it will create more jobs for local people and  increase 
the development of that country’s economy.  In contrast, if overseas travelers 
realise that they have to pay more to visit historical and cultural heritage sites, 
they would feel they are being treated disrespectfully 
and share negative reviews to their relatives or friends.  Therefore, more and more tourists  will 
not choose the country as a favourable place to visit,  which may result 
in a significant decrease in tourism.

All in all, I do not believe that any extra fees should be imposed  on the foreign visitors.  Both local and international  travellers 
have an equal right 
to visit cultural and historical attractions. 


  Write here:

Feedback and suggestions
	Task Achievement


	Band 6

	      IELTS BAND 6 - assessment
· addresses all parts of the task although some parts may be more fully covered than others

· presents a relevant position although the conclusions may become unclear or repetitive

· presents relevant main ideas but some may be inadequately developed/unclear



	      Comments and Suggestions
· The essay meets the task requirements of over 250 words and is relevant to the exam question.
· The second argument in body paragraph 1 is unclear / weaker than the others:

Secondly, it is my personal belief that if the foreign tourists can pay the same fee as the local visitors, people from that country can pay the same price when going to the other country

‘people can pay the same price’ is weak.  It does not refer back to the point of the essay question and is not developed well as an argument / supporting evidence.
For example, this would be stronger: ‘…. charging foreign tourists the same price as local visitors would promote fairness and encourage other countries to treat overseas visitors equally so that all tourists benefit from ….. ’ , 



	Coherence and Cohesion


	Band 6

	      IELTS BAND 6 Descriptors
· arranges information and ideas coherently and there is a clear overall progression 

· uses cohesive devices effectively, but cohesion within and/or between sentences may be faulty or mechanical

· may not always use referencing clearly or appropriately 

· uses paragraphing, but not always logically


	      Comments and Suggestions 

· Essay is correctly strucutrued, with 4 clear paragraphs and overall progression / consistency. E.g.
Introduction (with personal opinion)

Body 1 (arguments to match opinion)

Body 2 (more arguments to match opinion)

Conclusion (with personal restated)

· Linking devices were used relatively well throughout the essay.

However, fixing these issues will help you to get a higher coherence score:
‘Furthermore’ was used twice in the second body paragraph. Use a different linking device for the second argument. E.g. ‘In addition,’

‘In the end’ (conclusion) is informal.  Change to ‘In conclusion’

· See note regarding referencing argument back to question in TA section above.



	Lexical Resource


	Band 6

	      IELTS BAND 6 Descriptors
· uses an adequate range of vocabulary for the task

· attempts to use less common vocabulary but with some inaccuracy

· makes some errors in spelling and/or word formation, but they do not impede communication



	      Comments and Suggestions 

· Some appropriate and relevant academic language is attempted:
E.g. ‘the implementation of’ / ‘a strong impression’ / ‘fees should be imposed’

However, the use of these in the sentences are often not quite correct grammatically as a result of the surrounding word choice (e.g. prepositions).

· Other less common words are attempted, but used incorrectly.  E.g.
‘impulse the development’ ‘they would feel being disrespectful’ ‘should have an equality to’

Only use vocabulary you are certain you know how to use correctly in terms of meaning, style, spelling and grammar.  Otherwise the miss-use of such vocabulary will be noticeable as an error to the examiner.

· Some non-academic phrases are used:
Try to use better academic language.  E.g.
‘ a very big number of’ = ‘an enormous number of’
‘more and more tourists’  = ‘an increasing number of tourists’
· There are numerous errors with word formation, particularly with not writing the ‘s’ on the ends of words for plurals.  E.g.

(souvenirs / foreign tourists / attractions)

	Grammar


	Band 5

	      IELTS BAND 5 Descriptors
· uses only a limited range of structures

· attempts complex sentences but these tend to be less accurate than simple sentences

· may make frequent grammatical errors and punctuation may be faulty; errors can cause some difficulty for the reader



	      Comments and Suggestions 

· There are many errors relating to the use of articles. E.g. 
Use of ‘the’ instead of ‘a’: ‘should be charged the a higher fee’

Using ‘the’ when writing generally and no article is required: ‘than the local visitors’

Review / learn article usage rules.
· There are some errors relating to the use of pronouns:

Required pronoun missed out:

‘to spend their money on food, souveneer, travelling and services, which benefits the economy of the host country,’
Be careful – review pronoun rules. Missing / overusing pronouns is a common mistake which can cause difficulty for the reader.
· There are two examples of sentence run-ons with the use of ‘this will’
‘it will make a strong impression on them, this will lead to a big number of international visitors
             ‘… choose the country as a favourable place to visit, this results in a significant decrease in tourism 

              industry.

              Do not join two complete sentences with a comma. Use a joining word such as ‘and’ / ‘which’


	Overall


	Band: 5.5

	      Comments and Suggestions 

· In order to get a band score 6 or higher, concentrate on the following:

1. Grammar: Review article, pronoun and sentence run-on rules.
2. Plurals.  When you check your report at the end – make sure you have written plurals for the

    nouns where needed.

3. Practice re-writing some of the basic phrases you have written in a more academic way.  
    Learn commonly used academic phrases which you can use in many essays.

4. Refer back to language referencing unit (link below) to ensure all arguments relate to the 

    question.

· Overall, it is clear grammar is your weakest area.  Eliminating the errors highlighted will allow you to achieve a higher band score.






Task 2 Essay question:





Write about the following topic:





Foreign visitors should pay more than local visitors for cultural and historical attractions.


To what extent do you agree or disagree with this opinion?





Give reasons for your answer and include any relevant examples from your own knowledge or experience.








�Passive tense 


Article (a = general not specific)


�Wrong word


�Article not required


�Incorrect grammar


�Spelling / plural


�Missing pronoun for relative clause.


�Grammar. Do not = what actually happens


Should not = what is beilved


�Word choice.  Destination = place, not


a specific site.


�This is okay.  However , we perfer not


to use personal opinion in the body 


paragraphs. 


�See notes and example sentence in


Task Acheivement section below essay.


�Grammar / vocabularly.


See notes in Lexical Resourse / Grammar 


sections below.


�Incorrect word


�Grammar / not academic


�Word form / word choice incorrect.


�Grammar


�Incorrect tense


�See Grammar section below (pronouns).


Use cautious language to modify certainty


�Avoid repeating words.


�Word choice / grammar


�Plural required – again








